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Fxq, X0, .00y X,) ZZaiixi2+ Zaijxixj (8)
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FAAEVEZHEREA, EANTH IR BT AxAR ] o (2 R — 0 FRAE R ExTAx = (X1, ..., X,)
Hit&a = o, ay=a;; = 5(a;;+a;) Hhi=1,..,n;j=1,...,n,i # j, FIFH A
FAY B 308 5 1R 8 AR AN 6 FR A B 5 % Hermitian B % . Hermitiani B4 & & XS AR EE [, AT A
SEX ARG P 2 Hermitian®E B (4R 20
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H(x,x) = (x,AX) = x'Ax = ZZ rijxl.ij 9
i=1 j=1
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XH, P=RTAR=R'AR . Fiiltth, FiEPEPYHEMERMES PAXT MR, WIFK:

x'Ax =y" (RTAR)y = y" diag(A,,..., A,)y (11)
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RT. 2A=USUT RARIFHE(E R, FEHEm AN ZIREH(x, x), 132
H(x,x)=x"Ax=x"UzUTx (12)

AR=U, Mlx=Ry=Uy,y=U"x, LAz (12) & N:

H(x,x) =y' Ty = (x,Ax) = > 4]y (13)
i=1
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